Oxidation, Reduction and Electrochemistry

When a redox reaction occurs,
there must be a transfer of

A eiectrons
E neutrans.
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What is the oxidation number of
carbon in NaHCO,?
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A redox reaction is set up so that both half
reactions take place in separate beakers

that are connected by a salt bridge and an
a 1d

An oxidation half-reaction always
involves the

A gain of electrons and a decrease in
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When the equation is correctly balanced
using smallest whole numbers, the
Zoetiicient of Ci(aq) wiil be

A L

3 D

Amelal o 5 to bg ¢ledtrcdated with silver.
Wihiche | ag irodas-dhauld/de used?

A a silver anode and a metal
object as the cathode

B a platinum anode and a metal
object as the cathode

C a silver cathode and a metal
object as the anode

D a platinum cathode and a metal
object as the anode
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What is the net cell potential (E?)
for the overall reaction?

A 0.45.\
B 192V
C 237\
D 282V

nan elec{ diytit cell thexghade, s
always the

A negative electrode, where reduction
occurs

B negative electrode, where oxidation
occurs

C positive electrode, where reduction
occurs

D

positive electrode, where oxidation
occurs
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